—@
@ -

(\/_ VI1)? - (V17 - V13)?

© (19— 2209 + 11) — (17 - 2V221 + 13)
-2+209-2+v221 <0

A<B

& e
-




2. V175 = a7, V1200 = b3 L W, ab Q] ZfOo 2 qure A

[e]
2 X 1T A
ald

e

=

@D 80 ® 100 3 120 @ 140 ® 160



B-DB+1DE2+1)B*+1)=3"-1




@ a® + 2ab + b* = (a + b)?

@ x*+ (a+b)x+ab=(x+a)(x+b)
® a3+ 3a%b + 3ab®> + b* = (a +b)®
@ @ +b* = (a+b) (a® —ab +b?)

® a® - b= (a-b) (a® +ab+ b*)



= % x ofl iRt oA A A2

@ 2x2-5=2(x>-1) @ (x=-3)(x+1)=x*-4
® (x-5)(x+5) =25-x2 @ 3(x2+1) =3x(x+1)
® x2=(x-4)?



6. =T x=-30°] 37t H= oA ALY (H 2 M)

® x(x+2)=0 @ x*+2x-3=0
® x2+5x+6=0 @ 2x2-x-1=0

B 2x2+4 =0



7. ThEelA olAgA Y 2L

O y=-bx+1 @ y=x?-(x+1)2
1
® y=3-2x2+x(1+2x) @y:—§x2—|—1

® y=(x-4)2- (er%)Q



x2 4+ 3x -1 o tis}te] ok

oz} f(x)

8.

@ f(-1)=3 ® f(1)=3

@ £(0)=0

® f(-2)=4

@ f(2)=5



© 2 © 3

@1

-3




10. o= H27] & Alude vt 79 Ae BF 2w

3

Exl
@ 36 & = AlE - -6

© 59 AlEE > V5

© (-3)2 9 Aa+ -3

@ V16 o AlFT - +4

Do, 60,0 @06 ®o e 6o,



11. o2 5 22 729
O Vi+ V9= i3 @ 0 9 AlFLE 2 7fo|ch.
® V25>5 @ 7-3.14 = {gl5olt}.

® V25- V16 = V1



12. o A $8 2 A0 4ag o), st A5k 58 Tt
AL

VI5,3+ V2,4

SR
=%






14. o= & Alttol &2 A7

) \/_+3\/_—5\/_+3\/_—5\/_+8\/_
2«/’ V2x V3 _2v6 V6 _ 2v6
®7_\[ \/_xx/_ 3 3 3

® 3\/_—4\/_28\/_

6
@ \/3_—%:\/§

® VI2+ V18 —4v2 =23+ 542



15, NC%V?)(@+%)ﬂ%ﬂ¢ﬂﬁ%ﬂ€ﬂwbﬂﬁ%

Fafefet.

Eiab=






17. x2 —10x+A = + - =
(x 5)()6 B) 1 e
= s A, B I:V]: S
7 + Q Uﬂ J = 7_||'7_||' :IL°|'01 E]-

Be:a=

YR



ftlo

18. oAfgta y = ax® o 27} th IHI 22 ), A4 a,b O B
2| &= e ?

YA
o [0

I

|

1\ 4f -

| |

| 1

| |

| " >

-3 O 2 T
D a=-2,b=16 @ a=-2,b=-16
® a=2,b=18 @ a=1,b=9

® a=-2,b=20






20. V2=a, V3=b, Vb=c, Vi=dQu, V420 & a, b, ¢, d &
AH8-5to] YERTHAE?

@ abcd @ a’bc ® abc?d
@ a?bed B a’bc?d



VBB V- TS _
7 - N =aV3+b

a+b o 327

21. V10 € i, §214 a, b ol tHote

17
D -3 @0 ® — @ — ® =



22, ThS-L oA 227 x-3 = 0 ©] S k= FoIth, atbictd

o] k2
22 4+x-3=0
(ax+b)(cx+d)=0

d
x=——FEE=x=-=
a c




23.

o124 x% +6x+a =02
a2 kol &7 Az A2

- V10, a = -
® -3- V10, a=-19
@ —3—\/E,a:_1

=

-3+ V10 ¢ o, ot

@ 3+ V10, a= -
@ 3- V10, a=-19

ohe @ 2t



O oA § S22 de Ae BF 12w
@ 2x2+4x+2=0 @ x*4+10x+25=0
@ 3x*-Tx+2=0 @ 10(x-1)=x2+11

® (x-3)%2=4



25. ATy = ax? + bx — ¢ O LI} oh-
Z

y
O 22w, y = ex?+bx+a O] AHZE? \

) )

Y
‘O\}XUL@"
® @
Z/l
x




